Adding, Subtracting, Multiplying and Dividing Integers (A)

Name: Date: Score:

Calculate each sum, difference, product or quotient.

—9=+1 = 1x(=7) =
—8 —(—6) = —72 +(—9) =
—-5—-8 = —44+7 =
—6 4+ (—4) = 2+ (1) =
—7—(-4) = —48 + (—8) =
14 ~ (=2) = 1-1

7+ (=3)= 6+ (=2)=
1x6 = 1Xx(—4)=
9-9 = 7—38 =
8 —(=7) = —54+9

4% (—9) = 547

1x(-9)= —42 = (—6) =
—4x2 = 9% (—4) =
—7 - (-1 = 4% (=3)=
9+3 = —4 4+ (—8) =
1-3 = —3—(=2)=
54 +(-9) = —9+38

-14+8 = —-6—-7 =
44 (—6) = 5% (=3)=
—20 + (=5) = 6—6

49 + (=7) = 2+2

2+8 = -3+ (=3)=
—8+(=2)= —2 X2 =
-2 X7 = -3-1 =
—-8x1 = 8 X (—8) =
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Adding, Subtracting, Multiplying and Dividing Integers (A) Answers

Name: Date: Score:

Calculate each sum, difference, product or quotient.

—9+1 = -9 1xX(=7)= =7
—8—(=6)= —2 ~72+(-9)= 8
-5-8 =-13 -4+7 = 3
—6 + (—4)=-10 2+(-1)= 1
—7—(—4)= -3 —48 -(-8)= 6
14+ (-2)= —7 1-1 0
7+(-3)= 4 6+(-2)= 4
1X6 = 6 1x(—4)= —4
9-9 = 0 7—38 = —1
8—(=7)= 15 -5+9 = 4
4%x(=9)=-36 547 = 12
1xX(-9)= -9 —42+(-6)= 7
—4x2 = -8 9% (—4)=-36
—7—(-1)= -6 4x(=3)=-12
9+3 = 12 —4 4+ (—8)=-12
1-3 = =2 —3—(=2)= -1
54 -(-9)= -6 —-9+8 = -1
-1+8 = 7 —-6—7 =-13
44+ (—6)= -2 5% (=3)=-15
—20+(-5= 4 6—6 = 0
49 = (=)= -7 2+2 = 1
2+8 = 10 —3+(-3)= -6
—8 + (—=2)=-10 —2X2 = —4
—2x7 =-14 —3—-1 = -4
—8x1 = -8 8 X (—8) =—64
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Adding, Subtracting, Multiplying and Dividing Integers (B)

Name: Date: Score:

Calculate each sum, difference, product or quotient.

71 = =21+ (-3)=
—9 —(—6) = 4 —(—6) =
—24 +3 2—7 =
9% (-5) = —-9x%x (1) =
—7 X (=5) = —9—4 =
1-38 —16 + (—2) =
-1 —(-6) = 2+1
—6—(=5) = —-7+4
7+9 147
5-8 81 + (—9) =
—8 —38 —25+5
30=-6 1-3
18 -9 72 +(-8) =
5% (=9) = —16 + (—4) =
8 X5 8—9
56 =7 —-1-=1
7x(=2)= 5+(=1)=
1+4 = —6+6 =
8 X6 = —4 4+ (—9) =
—2X6 6 —2
2—(=3)= 42 = (=7) =
5—(—4)= —6—(—9) =
—48 ~ (—8) = —-5+2 =
—-7-8 = 6+ (=2)=
442 = —1—-(=2)=
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Adding, Subtracting, Multiplying and Dividing Integers (B) Answers

Name: Date: Score:

Calculate each sum, difference, product or quotient.

71 = 7 -21+(=-3)= 7
—9—(—-6)= -3 4—(—6)= 10
—24 =3 = -8 2—17 = =5

9 X (—5) = —45 —9x(-1)= 9
—7%x(=5)= 35 —9—4 =-13

1-8 = —7 ~16+(-2)= 8
—-1—-(—-6)= 5 24+1 = 3
—6—(=5)= —1 —7+4 = -3

7+ 9 16 147 = 8

5-8 -3 81+ (=9)= -9
—8—38 = —16 —25+5 -5
30=-6 5 1-3 —2
18 -9 2 72 +-(—8)= —9

5% (—=9) = —45 —16+(—4)= 4

8 X5 = 40 8—9 —1
56 7 8 -1-=1 —1

7X(=2)=-14 54(-1)= 4

144 = 5 —6+6 = 0

8x6 = 48 —4 4+ (—9)=-13

—2X6 = —12 6 —2 = 4

2—(=3)= 42+ (-7)= —6

5—(—4)= —-6—(—9)= 3
—48 - (—8)= 6 —5+2 = -3
—7—-8 =-15 6+(—=2)= —3

442 = 6 -1-(-2)= 1
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Adding, Subtracting, Multiplying and Dividing Integers (C)

Name: Date: Score:

Calculate each sum, difference, product or quotient.

32+ (—4) = —6 + (=9) =
~7x9 -1-9
-3+ (-9) = 547
9-3 = —36 -6 =
-54+9 = 8 —(—-2)=
4+ (=7)= —-9x%x4
—7 —(=2) = 3-4
8 —(=7) = —1+3
-2+ (-9) = 5-3
3 —(—8) = —4 + (—6) =
-7-3 —2—-2
6 —(—8) = —7X6
—16 = (-8) = 1+5
45 = (=5) = 4 %2
—7-5 —54 + (—6) =
30 + (—5) = —2-(-7)=
2—4 5% (=8) =
—36 =+ (=9) = 3—-7 =
-7-8 = 24+ (=3) =
—5—(=2)= 2—6
-8 +(-8) = 34+(-2)=
81 +(—-9) = 8+9
9% (—2)= 9%x8 =
—42+7 = 3% (=3) =
—8 —(—=5) = —-8—6 =
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Adding, Subtracting, Multiplying and Dividing Integers (C) Answers

Name: Date: Score:

Calculate each sum, difference, product or quotient.

32+ (—4)= -8

—6 + (=9) = —15

-7 X9 = —63 -1-9 = —10
-3+ (-9)=-12 5+7 12
9-3 = 6 —36 -6 = —6
—-5+9 = 4 8§—(—=2)= 10
44 (-7)= -3 —9x4 =-36
—7—(-2)= -5 3—4 -1
8§—(=7)= 15 —1+3 2
-2+ (-9) =-11 5-3 2
3—(-8)= 11 —4 +(—6)=—10
—-7-3 = —10 —2—-2 —4
6—(—8)= 14 —7X6 =-—42
~16 - (-8)= 2 1+5 6
45 = (=5)= -9 42
—7-5 =-12 —54 = (—6) =
30+ (—5)= -6 —2—(=7) =
2—-4 = -2 5% (—8) = —40
—36+(-9)= 4 3—7 = —4
—7-8 =-15 24 - (=3)= -8
—5—(=2)= -3 2—-6 —4
—8+(-8)= 1 3+(-2)= 1
81+ (—-9)= —9 8+9 17
9% (—=2)=-18 9% 8 72
—42+7 = —6 3x(=3)= -9
—8—(=5)= -3 —8—6 =-14
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Adding, Subtracting, Multiplying and Dividing Integers (D)

Name: Date: Score:

Calculate each sum, difference, product or quotient.

—8+ 8 = 3X 2 =
—3X%x(-9) = 4 =2

32 - (—8) = —5X 2
-5-9 = —5+(=8) =
—7-2 = —36 + (=9) =
—6 —(=7) = 8 —7

8+ 5 = 5—-1
—6—(—4) = 7-6

6+ (=3)= —-74+3

54+ (=7) = 45 = 5

8+ 6 = 2X8

8+8 = —1X5

—6 — (—8) = —-12+4
32+4 = —1+(=6)=
—9x%x (1) = 7X4

18 -9 = —-5-3

18 + (—6) = —3—(=7)=

4 —(=7)= —4 —(—6) =
306 = 16 =2 =
-1x1 = 24+ (=7) =
—36 -4 = —5X5

6+ (—2) = 81 +9

1 X2 = -1-9 =
20+5 = —7 +(=5) =
—3+(=3)= —-9x3 =
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Adding, Subtracting, Multiplying and Dividing Integers (D) Answers

Name: Date: Score:

Calculate each sum, difference, product or quotient.

—8+ 8 = 0 3 X2 = 6
—3x(=9)= 27 4+2 = 2
32+(—8)= —4 —-5%x2 =-10
—5-9 =-14 —54(-8)=-13
—7-2 = -9 —36+(-9)= 4
—-6—(-7)= 1 8§8—7 = 1
8+ 5 13 5—-1 = 4
—6-(-4)= -2 7-6 = 1
64+(=3)= 3 —74+3 = —4
54+(=7)= -2 45+5 = 9
8+ 6 14 2X8 = 16
8+8 1 —1X5 = =5
—6—(—8)= 2 —12+4 = -3
324 = 8 —14(-6)= —7
—-9x(-1)= 9 7Xx4 = 28
18 -9 = 2 —5-—-3 = —8
18+ (—6)= -3 —3—(=7)=
4—(-7)= 11 —4—-(—-6)= 2
306 = 5 16 =2 =
—1x1 -1 2+ (=7 = -5
—36 -4 -9 —5X5 = —25
6+(-2)= 4 81+9 = 9
1 X2 = 2 —-1-9 = —10
20+5 = 4 —7 4+ (=5)=-12
—3+(=3)= 1 —9%x3 =-27
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Adding, Subtracting, Multiplying and Dividing Integers (E)

Name: Date: Score:

Calculate each sum, difference, product or quotient.

—9+3 = 8+1 =
—8—-7 = 72 = (=8) =
—18 + (—6) = -7 %1
—2—-6 = -2X%X1 =
—6x (-1) = —6+3 =
1+8 = 3% (-9) =
5% (=7) = 7-5
54(—9) = -7+ (-2)=
3-8 = -7 +(=7) =
-8+6 = —2-(-4)=
—9 + (—6) = 6 X (—6) =
—1+(-1)= —72+9
5% (—6)= —54+2
9-1 = 1—-9
-3 X (=5) = 6 X5
—4+(-1) = —8+(—4) =
28 +(—4) = 7+3
—6 X 2 = 42 -6 =
5+1 = -8 %X (=2) =
7X9 = —9—(=9) =
9=+3 = —6+(=7) =
—4 —(=7) = —6 +(=2) =
4+4 = —2—(=7)=
18 =9 = —3=3 =
—45 + (=5) = -20+5 =
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Adding, Subtracting, Multiplying and Dividing Integers (E) Answers

Name: Date: Score:

Calculate each sum, difference, product or quotient.

—9+3 = -6 8+1 = 9
—8—7 =-15 72+ (-8)= —9
—-18+(—-6)= 3 -7 %1 —7
—2—06 = -8 —-2X1 = =2
—6x(-1)= 6 —6+3 = -2
1+8 9 3% (=9)=—-27
5% (=7)=-35 7—5 2
54(-9)= —4 -7+ (-2)= -9
3-8 -5 —7=(-=7)= 1
—8+6 -2 —2—(-4)= 2
—9 + (—6) = —15 6 X (—6) = —36
—1+(-1)= 1 —72+9 -8
5% (—6) = —30 —542 -3
9-1 8 1—-9 —8
—3x%x(=5)= 15 6 X 5 30
—4+(-1)= -5 —8+(—4)=-12
28 ~ (—4) = —7 743 10
—6x2 =-12 42+6 = 7
5+1 = 5 —8x(=2)= 16
7% 9 63 —9—-(-9)= 0
9+ 3 3 —6+ (=7)=—13
—4—(=7)= 3 —6+-(=2)= 3
4+-4 = 1 —2—-(-7)= 5
18 -9 = 2 —3+3 = —1
—45+(=5)= 9 -20+-5 = —4
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Adding, Subtracting, Multiplying and Dividing Integers (F)

Name: Date: Score:

Calculate each sum, difference, product or quotient.

6+4 = —5—-4 =
7—(—4)= —2—-(-3)=
-7+ (=5) = 54 - (—6) =
—8+(—4) = 3+ (-6)=
—6+(—9) = 6+3 =
—21+3 = —1-(-1)=
—-3x7 = —6 % 1

—8x8 = 4-8 =
—9Ix (1) = 5% (-1)=
—2 —(—6) = 45 + (=9) =
—24+8 = -9+ (-9) =
1 X (=7)= —8+4

—30 + (=5) = —3—4

8X5 = —-3x%x(-9) =
7—-9 = —9+7

—5+6 = —4-(-2)=
—2—(-8) = 7% (~2) =
-9 x4 = 1-9 =
28+7 = —48 + (—6) =
—36 = (—9) = 7+1

3% (=2) = 12 +2

5x8 = 8 X (—9) =
—8xX7 = 5% (=5)=
42 + (=7) = 8x1 =
7 %X (—6) = —2-7 =
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Adding, Subtracting, Multiplying and Dividing Integers (F) Answers

Name: Date: Score:

Calculate each sum, difference, product or quotient.

6+4 = 10 54 = —9
7—(—4)= 11 —2—-(-3)= 1
7+ (=5)=-12 54 - (—-6)= —9
—8 + (—4) =—12 34+(—6)= —3
—6 + (—9)=-15 6+3 = 9
—21+3 —7 —1-(-1) =
-3 X7 = -21 —6X1 = —6
—8 X 8 = —64 4—8 = —4
—9x(-1)= 9 5x(-1)= -5
—2—(-6)= 4 45~ (=9) = -5
—24+8 -3 —9+4(=9)=-18
1xX(=7)= -7 —-8+4 = =2
—30+(-5)= 6 —3—-4 = -7
8 X5 40 -3x(-9)= 27
7—9 —2 —94+7 = -2
—5+6 1 —4—(=2)= -2
—-2—-(-8)= 6 7X(=2)=-14
—9 X4 = —36 1-9 = —8
28-7 = 4 —48 + (—6) =
—36=(-9)= 4 7+1
3x(=2)= —6 12 =2
5% 8 40 8 X (=9)=-72
-8 X7 =-56 5% (=5)=-25
2= —6 §x1 = 8
7 X (—6) = —42 —2-7 = -9
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Adding, Subtracting, Multiplying and Dividing Integers (G)

Name: Date: Score:

Calculate each sum, difference, product or quotient.

8x8 = —54 + (=9) =
—45 +5 = -8 =4
—54+6 = —8 X (=2) =
—48 ~ (—6) = 2+1 =
9+ (-2)= -7+ (—6) =
-7 X (1) = 5+1
7+ (=9) = —24 +(—4) =
12+ (-2) = —4 %9
3x(=8)= 3X (—4) =
447 = 2+6
—6 =1 = —-5+8
305 = -8 %X (—-1) =
-3 X9 = -7 X3
6 —(=3)= —-10 - (-2) =
247 = —3X3
—8—-9 = 32+4
9+-1 = -9 X (=7)=
—16 =8 = 6+ 7 =
5-9 = =747 =
—54+46 = 24 + (=3) =
—1—(—4) = 7—4
2—-(-3)= 7+ 2
2% (=5)= -72+8 =
4 —4 = 56 -8 =
—4 (-1 = —64+6 =
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Adding, Subtracting, Multiplying and Dividing Integers (G) Answers

Name: Date: Score:

Calculate each sum, difference, product or quotient.

8xX8 = 64 —54+(-9)= 6
—45 +5 = -9 —8+4 = -2
—54+6 = -9 —8 X (=2)= 16
—48 - (—6)= 8 2+1 = 2

9+ (-2)= 7 —7+ (—6) =—13

—-7x(-1)= 7 5«1 = 5

74+ (=9)= -2 24+ (-4)= 6
12+ (-2)= —6 —4x9 =-36

3X(—8)=-24 3X(—4)=-12

4+7 = 11 2+6 = 8
—6 =1 = —6 —-5+8
30-5 = 6 —8x(-1)= 8
-3 X9 = =27 -7 X3 = —21

6—(-3)= 9 ~10+(-2)= 5

2+7 = 9 —3X3 = -9
—8—-9 =—17 32+4 = 8

91 = 9 9% (=7)= 63
—16 =8 = -2 6+ 7 = 13

5-9 = —4 -7+ 7 = 0
546 = 1 24 +~(=3)= -8
-1-(-4)= 3 7—4

2—(=3)= 5 7+2 = 9

2X(=5)=-10 -72+8 = -9

4—4 = 0 56 -8 =
—-4+(-)= 4 —6+6 =
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Adding, Subtracting, Multiplying and Dividing Integers (H)

Name: Date: Score:

Calculate each sum, difference, product or quotient.

—54+6 = 1x3 =
—9-5 —3 X (—4) =
9% (=3)= -7+ (=3)=
1—(—8) = —5+1 =
6+ (—6) = —-3—-(-1)=
8—9 4 X5
—18+9 —54(=3) =
—6—(-9) = 1-7
3X8 2—(-2)=
6 X3 —81+9
40 + (—8) = —7-(-2)=
—7 X5 —6 X 2
4 x (—8) = —7 —(—4) =
9—(—4) = 63 + 7
8+ (1) = —4+1
—7+(-1) = 8 X 7
1-(-1)= 8+ (—8) =
IX6 = 34+ (-3)=
—5=(=5) = 3+(=5)=
—6—7 —5X9
—6 —(=5) = 2—-(-7)=
—2 X8 4 -2
36 -9 = =21+ (-7)=
-1+9 = —44+6 =
—3X6 = 27 +9 =
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Adding, Subtracting, Multiplying and Dividing Integers (H) Answers

Name: Date: Score:

Calculate each sum, difference, product or quotient.
—5+46 = 1 1 X3 = 3
-9 -5 = —14 —-3X(—4)= 12

9 X (=3)=-27 -7+ (=3)=-10
1-(-8)= 9 —-5+1 = -5
6+(—6)= —1 —-3—-(-1)= -2
8§—9 = -1 4x5 = 20
~18+9 = -2 —5+(=3)= -8
—-6—(-9)= 3 1-7 = —6
3x8 = 24 2—(=2)= 4
6 X3 = 18 —81 +9 = -9
40 =~ (-8) = -5 —7—(=2)= -5
—7%x5 =-35 —6x2 =-12
4 x (—8)=—-32 —7—(—4)= -3
9—(—4)= 13 63 =7 9
8+ (-1)= —4+1 -3
—7+(-1)= 7 8x7 = 56
1—-(-1)= 8+ (—8) =

I9X6 = 54 34(=3)=

—5=(=-5= 1 3+(-5)= -2
—-6—7 =-13 —5X9 =-45
—6—(=5= -1 2—(-7)= 9
—2%x8 =-16 4—2 2
36 -9 = 4 —21+(-7)= 3
-1+4+9 = 8 —4 46 = 2
—3x6 =-18 27+-9 = 3
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Adding, Subtracting, Multiplying and Dividing Integers (I)

Name: Date: Score:

Calculate each sum, difference, product or quotient.

8 X (—9) = —5-9 =
7X3 = 74+ (=7) =
18 = (—9) = —5—-7
5X8 = 2—38 =
3+8 = —4x2 =
—32 = (-8) = 6—(=2)=
—4 + (—6) = 8—(—4) =
—6 + (—8) = —7 X 8
—45+5 = —6+(-3) =
—-1x(-7)= 5%X5
—9—(-8) = 9 X (—9) =
—4-7 = —1-9
2+ (=7)= 3—-(—4)=
4 —(=9) = 2 X2
6 X (—6) = —1+1
7+6 = —6—1
4-3 = —9 %X (=7) =
—4 X (—4) = —12 - (—6) =
—7x1 = 21 = (=7) =
-3+9 = —7+5
—6 X (—5) = 8 —(=5) =
—2 4 (-1) = 30 ~ 6
3—(=5)= —9X%X (1) =
—7 —(=2) = 16 ~ (=2) =
8+4 = —-36 -4 =
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Adding, Subtracting, Multiplying and Dividing Integers (I) Answers

Name: Date: Score:

Calculate each sum, difference, product or quotient.

8 X (—9) =—72 —5-9 =-14
7x3 = 21 7+(=7)= 0
18 - (—9)= -2 —5—7 =-12
5X8 = 40 2—38 = —6
3+8 = 11 —4 X 2 = —8
—32+(-8)= 4 6—(-2)= 8
—4 4+ (—6) = —10 8§8—(—4)= 12
—6+ (—8)=—14 —7Xx8 =-56
—45+5 = -9 —6+(-3)= 2
—-1x(=7)= 7 5x5 = 25
—9—(-8)= -1 9 X (—=9) = —81
—4 -7 = —11 —-1-9 = —10
24+ (=7)= -5 3—(—4)= 7
4—(-9)= 13 2 X2
6 X (—6) = —36 -1+1 = 0
74+ 6 = 13 —6—1 = -7
4-3 = 1 —9%x(=7)= 63
—4 X (—4) = 16 —12+(-6)= 2
-7x1 = =7 21 - (=7)= -3
—-34+9 = 6 —7+5 = =2
—6 X (=5)= 30 8§ —(=5)= 13
24+ (-1)= -3 30 + 6
3—(=5)= 8 —-9x(-1)= 9
—7—(=2)= =5 16 - (-2)= -8
8+4 = 2 —-36 -4 = -9
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Adding, Subtracting, Multiplying and Dividing Integers (J)

Name: Date: Score:

Calculate each sum, difference, product or quotient.

9% (=7) = 5+4(—6)=
—8-9 = 9+ (=9) =
8X6 = 6 + 4
—-7+1 = 24+ (-9) =
6—2 = 7+4 =
—9—(-3)= 544
9+ (—4) = 1+6
5—-9 = 347
64 ~ (—8) = —7+(=2) =
2 X (—=8) = —54(=3) =
—6+ (—9) = 4 —(=7)=
49 +7 = —9 X% (=5) =
6+ (—8)= 18 =2
4 —(-8)= 9+ (-3)=
6X7 = 72 = (=8) =
-30 =+ (-5) = 34+(-1)=
—8—(-1)= 5% (=5)=
—3-6 = 444 =
—-9-9 = —5X7 =
36 ~ (—6) = 8 —2
3—(-2)= -2 X7
—-3+5 = 6+ 1
—27+9 = 4 —(=5)=
—1X%x(—4) = 56 - (—8) =
—7+3 = —40 =5 =
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Adding, Subtracting, Multiplying and Dividing Integers (J) Answers

Name: Date: Score:

Calculate each sum, difference, product or quotient.

9 X (=7) = —63 54(—6)= —1
—8—-9 =-17 9+(-9)= -1
8§xX6 = 48 6+4 = 10
-7+1 = -7 2+(=9)= -7
6—2 = 4 7+4 = 11
—9—(=3)= —6 5+4
9+(—4)= 5 1+6
5—-9 = —4 347 = 10
64~ (—8) = —8 —74+(=2)= -9
2% (—8)=—16 —54(=3)= -8
—6 + (=9) = —15 4—(=7)= 11
497 = 7 —9x (=5)= 45
6+(—8)= —2 18+2 = 9
4—(-8)= 12 9 (=3)= -3
6X7 = 42 72 = (-8)= —9
-30+(-5)= 6 3+(-1)= 2
—8—(-1)= -7 5% (=5)=-25
—3—-6 = —9 4+ 4 = 8
—9-9 = —18 —5X7 = —35
36 - (—6)= —6 8—2 = 6
3—(-2)= 5 —2X7 =-14
—-3+5 = 2 6+ 1 = 7
—27+9 = -3 4—(-5)= 9
—1x(-4)= 4 56 ~(—8)= —7
-7+ 3 = —4 —40 =5 = -8
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